

SOME TRANSFORMATION FORMULAE FOR HYPERGEOMETRIC SERIES

By B. L. Sharma

1. Introduction

Carlitz [4], Abiodun & Sharma [7]; Singal [6] have given various transformation formulae for hypergeometric series of two variables. The object of this paper is to obtain four transformation formulae for hypergeometric series of two variables. Some interesting particular cases are also discussed.

The following notation due to Chaundy [8] will be used to represent the hypergeometric function of higher order and of two variables.

$$(1) \quad F \left[\begin{matrix} (a_p); (b_q); (c_r); x, y \\ (d_s); (e_h); (f_k); \end{matrix} \right] = \sum_{m,n=0}^{\infty} \frac{[(a_p)]_{m+n} [(b_q)]_m [(c_r)]_n x^m y^n}{[(d_s)]_{m+n} [(e_h)]_m [(f_k)]_n m! n!}$$

where (a_p) and $[(a_p)]_{m+n}$ will mean a_1, \dots, a_p and $(a_1)_{m+n}, \dots, (a_p)_{m+n}$.

2. The first transformation formula to be proved is

$$(2) \quad F \left[\begin{matrix} -n; \gamma, \lambda; \delta, \mu; 2, 2 \\ \beta; 2\lambda; 2\mu; \end{matrix} \right] = \frac{(\beta - \gamma - \delta)_n}{(\beta)_n} F \left[\begin{matrix} -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n; \frac{1}{2}\gamma, \frac{1}{2} + \frac{1}{2}\gamma; \frac{1}{2}\delta, \frac{1}{2} + \frac{1}{2}\delta; 1, 1 \\ \frac{1}{2}(1 - n - \beta + \gamma + \delta), \frac{1}{2}(2 - n - \beta + \gamma + \delta); \lambda + \frac{1}{2}; \mu + \frac{1}{2}; \end{matrix} \right]$$

valid for $R(\beta - \gamma - \delta) > 0$.

PROOF. To prove (2), we start with left side of (2).

$$F \left[\begin{matrix} -n; \gamma, \lambda; \delta, \mu; 2, 2 \\ \beta; 2\lambda; 2\mu; \end{matrix} \right] = \sum_{p=0}^{p+q} \sum_{q=0}^{\leq n} \frac{(-n)_{p+q} (\gamma)_p (\lambda)_p (\delta)_q (\mu)_q 2^{p+q}}{(\beta)_{p+q} (2\lambda)_p (2\mu)_q p! q!}$$

$$= \sum_{p=0}^{p+q} \sum_{q=0}^{\leq n} \frac{(-n)_{p+q} (\gamma)_p (\delta)_q}{(\beta)_{p+q} p! q!} \sum_{r=0}^{p/2} \frac{\left(-\frac{1}{2}p\right)_r \left(\frac{1}{2} - \frac{1}{2}p\right)_r}{\left(\lambda + \frac{1}{2}\right)_r r!} \sum_{s=0}^{q/2} \frac{\left(-\frac{1}{2}q\right)_s \left(\frac{1}{2} - \frac{1}{2}q\right)_s}{\left(\mu + \frac{1}{2}\right)_s s!}$$

we have used the formula, Rainville [1, p. 49]

$$(3) \quad {}_2F_1 \left[\begin{matrix} -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n; 1 \\ b + \frac{1}{2}; \end{matrix} \right] = \frac{2^n (b)_n}{(2b)_n}$$

$$\begin{aligned}
&= \sum_{p=0}^{p+q} \sum_{q=0}^{\leq n} \frac{(-n)_{p+q} (\gamma)_p (\delta)_q}{(\beta)_{p+q} p! q!} \sum_{r=0}^{p/2} \frac{(-p)_{2r}}{r! \left(\lambda + \frac{1}{2}\right)_r 2^{2r}} \sum_{s=0}^{q/2} \frac{(-q)_{2s}}{s! \left(\mu + \frac{1}{2}\right)_s 2^{2s}} \\
&= \sum_{r=0}^{r+s} \sum_{s=0}^{\leq n} \frac{(-n)_{2r+2s} (\gamma)_{2r} (\delta)_{2s}}{(\beta)_{2r+2s} \left(\lambda + \frac{1}{2}\right)_r \left(\mu + \frac{1}{2}\right)_s r! s! 2^{2r+2s}} F_1[-n+2r+2s; \gamma+2r, \delta+2s; \\
&\quad \beta+2r+2s; 1, 1]
\end{aligned}$$

Now we use the formula due to Appell & Kampe de F'erit [5, p. 22, equation (24)]

$$(4) \quad F_1[\alpha; \beta, \rho; \gamma; 1, 1] = \frac{\Gamma(\gamma)\Gamma(\gamma-\alpha-\beta-\rho)}{\Gamma(\gamma-\alpha)\Gamma(\gamma-\beta-\rho)},$$

valid for $R(\gamma-\alpha-\beta-\rho) > 0$.

$$= \frac{(\beta-\gamma-\delta)_n}{(\beta)_n} F \left[\begin{matrix} -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n; \frac{1}{2}\gamma, \frac{1}{2} + \frac{1}{2}\gamma; \frac{1}{2}\delta, \frac{1}{2} + \frac{1}{2}\delta; 1, 1 \\ \frac{1}{2}(1-n-\beta+\gamma+\delta), \frac{1}{2}(2-n-\beta+\gamma+\delta); \lambda + \frac{1}{2}; \mu + \frac{1}{2}; \end{matrix} \right].$$

This completes the proof of the formula.

3. The second transformation formula to be proved is

$$\begin{aligned}
(5) \quad & F \left[\begin{matrix} \alpha; -m, \lambda; -n, \mu; 2, 2 \\ \beta; 2\lambda; \mu; \end{matrix} \right] \\
&= \frac{(\beta-\alpha)_{m+n}}{(\beta)_{m+n}} F \left[\begin{matrix} \frac{1}{2}\alpha, \frac{1}{2} + \frac{1}{2}\alpha; -\frac{1}{2}m, \frac{1}{2} - \frac{1}{2}m; -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n; 1, 1 \\ \frac{1}{2}(1+\alpha-\beta-m-n), \frac{1}{2}(2+\alpha-\beta-m-n); \lambda + \frac{1}{2}; \mu + \frac{1}{2}; \end{matrix} \right],
\end{aligned}$$

valid for $R(\beta-\alpha) > 0$.

PROOF. The proof of (5) is same as that of (2). In case we put $\lambda=0$ in (5), we get a transformation formula between ${}_3F_2(2)$ and ${}_4F_3(1)$.

$$\begin{aligned}
(6) \quad & {}_3F_2 \left[\begin{matrix} \alpha, \mu, -n; 2 \\ \beta, 2\mu; \end{matrix} \right] = \\
& \frac{(\beta-\alpha)_n}{(\beta)_n} {}_4F_3 \left[\begin{matrix} -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n, \frac{1}{2}\alpha, \frac{1}{2} + \frac{1}{2}\alpha; 1 \\ \frac{1}{2}(1+\alpha-\beta-n), \frac{1}{2}(2+\alpha-\beta-n), \mu + \frac{1}{2}; \end{matrix} \right].
\end{aligned}$$

with the help of (5), we write

$$\begin{aligned}
(7) \quad & \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\beta)_{m+n}}{m! n!} x^m y^n F \left[\begin{matrix} \alpha; -m, \lambda; -n, \mu; 2, 2 \\ \beta; 2\lambda; 2\mu; \end{matrix} \right] \\
&= \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\beta-\alpha)_{m+n}}{m! n!} x^m y^n
\end{aligned}$$

$$\times F \left[\begin{matrix} \frac{1}{2}\alpha, \frac{1}{2} + \frac{1}{2}\alpha; -\frac{1}{2}m, \frac{1}{2} - \frac{1}{2}m; -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n; 1, 1 \\ \frac{1}{2}(1+\alpha-\beta-m-n), \frac{1}{2}(2+\alpha-\beta-m-n); \lambda + \frac{1}{2}; \mu + \frac{1}{2}; \end{matrix} \right].$$

First we simplify the left side of (7).

$$\sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(\alpha)_{r+s} (\lambda)_r (\mu)_s (-2x)^r (-2y)^s}{(2\lambda)_r (2\mu)_s r! s!} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\beta+r+s)_{m+n}}{m! n!} r^m y^n$$

$$= (1-x-y)^{-\beta} F_2 \left[\alpha; \lambda, \mu; 2\lambda, 2\mu; \frac{2x}{x+y-1}, \frac{2y}{x+y-1} \right].$$

Now we simplify the right side of (7)

$$\sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{\left(\frac{1}{2}\alpha\right)_{r+s} \left(\frac{1}{2} + \frac{1}{2}\alpha\right)_{r+s} x^{2r} y^{2s}}{\left(\lambda + \frac{1}{2}\right)_r \left(\mu + \frac{1}{2}\right)_s r! s!} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{(\beta-\alpha)_{m+n} x^m y^n}{m! n!}$$

$$= (1-x-y)^{\alpha-\beta} F_4 \left[\frac{1}{2}\alpha, \frac{1}{2} + \frac{1}{2}\alpha; \lambda + \frac{1}{2}, \mu + \frac{1}{2}; x^2, y^2 \right].$$

Thus we obtain

$$(8) \quad F_4 \left[\frac{1}{2}\alpha, \frac{1}{2} + \frac{1}{2}\alpha; \lambda + \frac{1}{2}, \mu + \frac{1}{2}; x^2, y^2 \right]$$

$$= (1-x-y)^{-\alpha} F_2 \left[\alpha; \lambda, \mu; 2\lambda, 2\mu; \frac{2x}{x+y-1}, \frac{2y}{x+y-1} \right].$$

(8) is due to Bailey [9].

4. The third transformation formula to be proved is

$$(9) \quad F \left[\begin{matrix} \alpha; 1-m-\lambda, -m; 1-n-\mu, -n; -1, -1 \\ \beta; \lambda; \mu \end{matrix} \right] = \frac{(\beta-\alpha)_{m+n}}{(\beta)_{m+n}}$$

$$\times F \left[\begin{matrix} \alpha, 1-\beta-m-n; -\frac{1}{2}m, \frac{1}{2} - \frac{1}{2}m; -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n; 1, 1 \\ \frac{1}{2}(1-\beta+\alpha-m-n), \frac{1}{2}(2-\beta+\alpha-m-n); \lambda; \mu \end{matrix} \right].$$

valid for $R(\beta-\alpha) > 0$.

PROOF. To prove (9), we start with the left side of (9).

$$F \left[\begin{matrix} \alpha; 1-m-\lambda, -m; 1-n-\mu, -n; -1, -1 \\ \beta; \lambda; \mu \end{matrix} \right]$$

$$= \sum_{p=0}^m \sum_{q=0}^n \frac{(-m)_p (1-m-\lambda)_p (-n)_q (1-n-\mu)_q (\alpha)_{p+q} (-1)^{p+q}}{(\beta)_{p+q} (\lambda)_p (\mu)_q p! q!}$$

$$= \sum_{p=0}^m \sum_{q=0}^n \frac{(\alpha)_{p+q} (-m)_p (-n)_q}{(\beta)_{p+q} p! q!} \sum_{r=0}^{m-p} \frac{(-p)_r (-m+p)_r}{(\lambda)_r r!} \sum_{s=0}^{n-q} \frac{(-q)_s (-n+q)_s}{(\mu)_s s!}$$

we have used the formula, Rainville [1, p.69, ex.5]

$$(10) \quad {}_2F_1 \left[\begin{matrix} -n, a+n; \\ c \end{matrix}; 1 \right] = \frac{(-1)^n (1+a-c)_n}{(c)_n}.$$

$$= \sum_{r=0}^{m/2} \sum_{s=0}^{n/2} \frac{(\alpha)_{r+s} \left(-\frac{1}{2}m\right)_r \left(\frac{1}{2}-\frac{1}{2}m\right)_r \left(-\frac{1}{2}n\right)_s \left(\frac{1}{2}-\frac{1}{2}n\right)_s 2^{2r+2s} (-1)^{r+s}}{(\beta)_{r+s} (\lambda)_r (\mu)_s r! s!}$$

$$\times F_1 [\alpha+r+s; -m+2r, -n+2s; \beta+r+s; 1, 1]$$

Now we use (4).

$$= \frac{(\beta-\alpha)_{m+n}}{(\beta)_{m+n}} F \left[\begin{matrix} \alpha, 1-\beta-m-n; -\frac{1}{2}m, \frac{1}{2}-\frac{1}{2}m; -\frac{1}{2}n, \frac{1}{2}-\frac{1}{2}n; \\ \frac{1}{2}(1-\beta+\alpha-m-n), \frac{1}{2}(2-\beta+\alpha-m-n); \lambda; \mu; \end{matrix}; 1, 1 \right].$$

This completes the proof of the formulae. Taking $n=0$ in (9), it reduces to a known result due to Slater [2, p.65. (2.4.21)].

5. The fourth transformation formula to be proved is

$$(11) \quad F \left[\begin{matrix} \alpha; -m, \gamma; -n, \delta; \\ \beta; 1-m-\gamma; 1-n-\delta; \end{matrix}; 1, 1 \right] = \frac{(\beta-\alpha)_{m+n}}{(\beta)_{m+n}}$$

$$\times F \left[\begin{matrix} \alpha, 1-\beta-m-n; -\frac{1}{2}m, \frac{1}{2}-\frac{1}{2}m-\gamma; -\frac{1}{2}n, \frac{1}{2}-\frac{1}{2}n-\delta; \\ \frac{1}{2}(1-\beta+\alpha-m-n), \frac{1}{2}(2-\beta+\alpha-m-n); 1-m-\gamma; 1-n-\delta; \end{matrix}; 1, 1 \right],$$

valid for $R(\beta-\alpha) > 0$.

PROOF. To prove (11), we start with the left side of (11).

$$F \left[\begin{matrix} \alpha; -m, \gamma; -n, \delta; \\ \beta; 1-m-\gamma; 1-n-\delta; \end{matrix}; 1, 1 \right] = \sum_{p=0}^m \sum_{q=0}^n \frac{(\alpha)_{p+q} (-m)_p (\gamma)_p (-n)_q (\delta)_q}{(\beta)_{p+q} (1-m-\gamma)_p (1-n-\delta)_q p! q!}$$

$$= \sum_{p=0}^m \sum_{q=0}^n \frac{(\alpha)_{p+q} (-m)_p (-n)_q}{(\beta)_{p+q} p! q!} \sum_{r=0}^{m-p} \frac{(-p)_r (-m+p)_r \left(\frac{1}{2}-\frac{1}{2}m-\gamma\right)_r}{(1-m-r)_r \left(\frac{1}{2}-\frac{1}{2}m\right)_r r!}$$

$$\times \sum_{s=0}^{n-q} \frac{(-q)_s (-n+q)_s \left(\frac{1}{2}-\frac{1}{2}n-\delta\right)_s}{(1-n-\delta)_s \left(\frac{1}{2}-\frac{1}{2}n\right)_s s!}$$

we have used the formula, Rainville [1, p.87]

$$(12) \quad {}_3F_2 \left[\begin{matrix} -n, a+n, \frac{1}{2} + \frac{1}{2}a-b; 1 \\ 1+a-b, \frac{1}{2} + \frac{1}{2}a \end{matrix} ; \right] = \frac{(b)_n}{(1+a-b)_n},$$

where $1+a-b$ is a non-negative integer and a and b are independent of n .

$$= \sum_{r=0}^{m/2} \sum_{s=0}^{n/2} \frac{(\alpha)_{r+s} \left(\frac{1}{2} - \frac{1}{2}m - \gamma\right)_r \left(\frac{1}{2} - \frac{1}{2}n - \delta\right)_s \left(-\frac{1}{2}n\right)_s \left(-\frac{1}{2}m\right)_r}{(\beta)_{r+s} (1-m-\gamma)_r (1-n-\delta)_s} \\ \times \frac{(-1)^{r+s} 2^{2r+2s}}{r! s!} F_1 [\alpha+r+s; -m+2r, -n+2s; \beta+r+s; 1, 1].$$

Now we use (4).

$$= \frac{(\beta-\alpha)_{m+n}}{(\beta)_{m+n}} \\ \times F \left[\begin{matrix} \alpha, 1-\beta-m-n; -\frac{1}{2}m, \frac{1}{2} - \frac{1}{2}m-\gamma; -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n-\delta; 1, 1 \\ \frac{1}{2}(1-\beta+\alpha-m-n), \frac{1}{2}(2-\beta+\alpha-m-n); 1-m-\gamma; 1-m-\delta; \end{matrix} \right]$$

This completes the proof of the formula. If we put $m=0$ in (11), we have

$$(13) \quad {}_3F_2 \left[\begin{matrix} -n, \alpha, \delta; 1 \\ \beta, 1-n-\delta; \end{matrix} \right] \\ = \frac{(\beta-\alpha)_n}{(\beta)_n} {}_4F_3 \left[\begin{matrix} -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n-\delta, \alpha, 1-\beta-n; 1 \\ \frac{1}{2}(1-\beta+\alpha-n), \frac{1}{2}(2-\beta+\alpha-n), 1-n-\delta; \end{matrix} \right].$$

Next we take $n=m$, $\gamma=\delta$, $\alpha=1-n-r$, $\beta=r+\delta$ and using the formula due to Carlitz [3]

$$(14) \quad F \left[\begin{matrix} \alpha; \beta, -n; \gamma, -m; 1, 1 \\ \beta+\gamma; \alpha; \alpha; \end{matrix} \right] = \frac{(\alpha)_{m+n} (\beta)_n (\gamma)_m}{(\beta+\gamma)_{m+n} (\alpha)_n (\alpha)_n}$$

in (11), we get

$$(15) \quad F \left[\begin{matrix} 1-n-\gamma, 1-2n-\gamma; -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n-\gamma; -\frac{1}{2}n, \frac{1}{2} - \frac{1}{2}n-\gamma; 1, 1 \\ \frac{1}{2}(2-3\gamma-3n), \frac{1}{2}(3-3\gamma-3n); 1-n-\gamma; 1-n-\gamma; \end{matrix} \right] \\ = \frac{(-1)^n (\gamma)_n (1-\gamma)_n (3\gamma-1)_n}{(3\gamma-1)_{3n}}$$

REFERENCES

- [1] E. D. Rainville, *Special functions*, The Macmillan Company, New York.
- [2] L. J. Slater, *Generalised hypergeometric functions*, Cambridge University Press, 1966.
- [3] L. Carlitz, *A summation theorem for double hypergeometric series*, Rend. Semi. Mat. Univ. Padova, pp.230—233, 1967.
- [4] L. Carlitz, *A transformation formula for multiple hypergeometric series*, Monatsch. Math. Vol.71, pp.1—6 1967.
- [5] P. Appell, & J. Kampe de F'erit, *Fonctions hypergeometriques et hyperspheriques*, polynomes D' Hermte, Gauthier-Villars, Paris. 1926.
- [6] R. P. Singal, *Transformations of double hypergeometric functions*, Math. Student, Vol. XL. A. pp.200—203, 1972.
- [7] R. F. A. Abiodun & B. L. Sharma, *Transformations for hypergeometric Series*, Rend. Ist. di. Matem. Univ. Trieste. Vol.V. Fasc. II. pp.1—9, 1973.
- [8] T. W. Chaundy, *Expansion of hypergeometric functions*, Quart. J. Math. Oxford. Ser. 13. pp.154—171, 1942.
- [9] W. N. Bailey, *On the sum of a terminating ${}_3F_2(1)$* , Quart. J. Math. Oxford, (2), 4, pp.237—240. 1953.